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. (10%) Evaluate [ Z

24 ~-x
. (10%) Find lim [*— g
.1.-«)0‘1 x
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Please show all your work.

1. (10%) A firm finds that its cost and demand functions can be modeled by the

2
following pol ials, C =—-—x—-+5 +3800 and =——x—+50,
ollowing polynomi (x) 100 x p(x) 100

respectively, where x refers to the production level. What production level will
maximize profits for this firm?

. (10%) Find the area of the region bounded by the curves y=sinx and

y=cosx, x=0, and x:%,

- (10%) The curve y=+4-x*, —1<x<1, is an arc of the circle ¥+y' =4,

Find the area of the surface obtained by rotating this arc about the x-axis. (The
surface is a portion of a sphere of radius 2)
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. (10%)Evaluate | —1 g

x~-1

. (10%) Find f l“j;-z%\/az—xl— V2 dydx

. (10%) Find the general solutionto " - y= e"(x2 - 1)
. (10%) Find the maximum value of 6x+3 y+2z-5 on the surface

4x* +2y1 + 22 =170

10. (10%) Find lir’gl Vl+sinx f\/l—Smx
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